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BRI PEEBHETER (ha)
i ” ~ —
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R TH 563 330 233 504 101 308 95 0.90
22 447 295 152 460 92 299 69 1.03
27 393 269 124 396 82 253 60 1.01
[H2E 307 185 122 350 66 244 40 1.14
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HiZe U | ki | 0.5hal 1.0 ha| 1.5 ha| 2.0 ha| 3.0 ha| 5.0 ha| SIE| dei

SERRITAE | 1,047 - 37 183 212 80 25 16 6 4 524

99 966 4 15 125 179 71 27 15 5 6 538

27 925 | 18 114 159 59 15 17 6 4 550
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SRR 294F 165, 856 15, 426 150, 430 94,279 194 2,471 68,912

30 203, 463 39, 344 164, 119 80,359 1,612 3,101 118,391

31 - A FTEAE 153, 137 9, 559 143, 578 89,598 3,456 2,333 57,750

9 137, 906 13, 956 123, 950 75,877 3,182 191 58, 656

3 133, 193 15, 934 117, 259 70, 017 0 628 62,548
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X — ) — ) —

wom | RERROE |WEPELSE lamr| mo | om || 22
B ¥ 307 185 122 350 66 244 40 1.14
RHX 34 22 12 26 3 17 6 0.76
ST HX 49 34 15 122 23 94 5 2.49
JEUT X 24 14 10 14 5 7 2 0.58
KA HX 99 62 37 103 20 72 11 195.00
X 63 32 31 53 10 33 10 0.84
KA HLX 38 21 17 32 6 21 6 0.84
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% % 307 1 13 89 129 42 15 9 2 4 3
MK 34 - 1 11 19 1 1 - - 1 -
7 HiL X 49 - 2 9 20 10 2 3 - 2 1
JEC T HiL X 24 1 - 9 11 2 1 - - - -
KA X 99 - 3 32 39 13 5 4 1 - 2
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KAHIX 38 - 3 7 17 6 3 1 1 - -
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X 77 4 - - - 3 2 6 5 X 33 - - - 2 4 713 7
KA X 63 32 - 2 2 2 3 7 11 5 3 - - - 2 2 6 12
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I 65 36 3 7 4 8 14 29 5 4 6 5 9
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